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Directions :

There are in all 7 questions in this question paper. All questions are
compulsory.

(iy Wi 2 FeiRa sid 376 @ sifed 7
Marks alloted to the questions are mentioned against them.

(iii) D T P SIS Ufed el TR TR alforel
Read each question carefully and answer to the point.

(iv) Wmmgﬁwéﬁm%lsﬁmasm@gasmﬁaﬂﬁmﬁa
e & e fRreed s FeRyfRae & faRaw| wem e 2 M ok e B |
Question No.1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 is definite answer type question.

(v) =9 YeH-uF N Y R P ey Tl & ety siiaa e # 1idRe faded e
s ot &1 ¥ weET ¥ Paet v b 1 & TR aiforel
There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.

1. (@) Teh Pe JHaFE® HIe & - 1
(i) gH @ (i) OE@
(iii) T B (iv) eIt &r
Gundhi bug is a pest of -
(i) Rice (ii) Mustard
(iii) Wheat (iv) Cauliflower
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() dlel & 3iaT T & YR R BT B fobas ol & aic T &-

(i) ar (i) TR

(i) U (iv) o=

On the basis of plant life cycle, crops can be classified into how many

groups-

(i) two (i)  four

(iii) five (iv) three
(M) R MR R =nfge-

@ S/ (i) ParH

(i) AgH (iv) STIWH

Veneer grafting should be done in-

(i) Mango (i) Banana

(iii) Apple (iv) All of these
() ‘3R T8’ Bl T &-

(i) TaT TRE&0T (i) §1¢ Fgaor R

(iii)  gFer 3caTe & (iv) T o= d

'‘Operation Flood' is related with-

(i) Soil conservation (ii) Flood control

(iii) Milk production (iv) Health science
(3) =4 ¥ B W@ S B B & 22

(i) HBelr (i) g

(iii) S (iv) =4

Which one of the following is not a Rabi crop?

(i) Peanut (i)  Wheat

(iii) Berseem (iv) Mustard

2. f=foRad yed @vel & 3R AR -
() g &1 Il A felRad |
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(T) TRIB B BT e a8 e &2
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3.

Answer the following parts of question-

(a) Write the botanical name of wheat.

(b) 'Dasheri' is a variety of which fruit?

(c) Which vitamin is found most in Guava?

(d) What is the process of sterilizing milk called?
(e) When is the kharif crop sown?

frfaRad wem @usl & 3R alfore- 2x5=10
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Answer the following parts of question—

(a) Explain Pegging in Peanut.

(b) Explain the Hexagonal system of orchard planting and write its advantage.
(c) Write two advantages of floriculture.

(d) Differentiate between milk and colostrum.

(e) Differentiate between hybrid and composite maize.

frfaRad ye Woel & TR aNfote- 3x5=15
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Answer the following parts of question-

(a) Write the usefulness of Marigold cultivation.

(b) Mention the objectives of grooming of dairy cattles.

(c) Explain any two methods of Grafting in plants. '

(d) What is Dry farming? State any two methods of conservation of moisture
in the soil.

(e) Write a short note on need of flower production in Uttarakhand.
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Describe the cultivation of Brinjal or Urad under the following heads-
(a) Two improved varieties ’

(b) Seed rate per hectare and sowing time

(c) Manure and Fertilizer per hectare

(d) Disease and insects

(e) Yield per hectare

SR 1l A9 B Wt BT ol FpferRaa Shiiat & smerfa Sfe- 1x5=5
() g Famferat
() garor fafert
() &E Td 3RS Ui daex
(7) M
(5) 3u3 9fT e
Describe the cultivation of Orange or Apple under the following heads-
(a) Recommended varieties
(b) Propagation methods
(c) Manure and Fertilizer per hectare
(d) Disease
(e) Yield per hectare
P § e &1 T Hee 2° RaRyd® wwasd| 5
What is the importance of livestock in agriculture? Explain in defail.
341 / OR
RS BT WS M @ S orE 31 9T 3R SRY? 3o SR
What preventive measures will you take for infectious disease of animals?
Mention.
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